Dividing by 22 (J)

Name:

462 - 22 =
44 =22 =
176 22 =
286 - 22 =
198 - 22 =
308 -22 =
418 =22 =
484 =22 =
396 - 22 =
22 +22 =
66 ~ 22 =
132 +22 =
110 =22 =
440 = 22 =
374 - 22 =
352 22 =
220 +22 =
154 =22 =
264 - 22 =
242 =22 =
88 +22 =
330 =22 =
22 +22 =
22022 =
330 =22 =

Calculate each quotient.

154 =22 =
264 =22 =
44 =22 =
242 =22 =
88 =22 =
308 - 22 =
176 =22 =
374 + 22 =
484 = 22 =
396 - 22 =
352 +22 =
132 +22 =
110 =22 =
462 - 22 =
418 =22 =
440 = 22 =
286 + 22 =
198 - 22 =
66 + 22 =
176 - 22 =
264 - 22 =
396 - 22 =
132 +22 =
352 +22 =
198 =22 =

Date:

308 - 22 =

22 +22 =

242 - 22 =

286 — 22 =

154 =22 =

418 =22 =

44 =22 =

374 + 22 =

66 — 22 =

440 =22 =

88 22 =

462 =22 =

330 -22 =

484 =22 =

220+ 22 =

110 =22 =

154 =22 =

176 =22 =

264 - 22 =

308 + 22 =

374 + 22 =

44 +22 =

462 =22 =

242 =22 =

330 - 22 =

Score:

22 +22 =
440 - 22 =
484 - 22 =

35222 =

286 ~ 22 =
198 =22 =

30622 =

110 =22 =
66 — 22 =

418 =22 =|

132 - 22 =
88 22 =
220 =22 =
66 ~ 22 =
132 - 22 =
198 =22 =
88 22 =
220 =22 =
44 =22 =

35222 =

242 =22 =
396 - 22 =

308 ~22=

418 =22 =
440 = 22 =
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Dividing by 22 (J) Answers

Name:

Date:

462 =22 =
44 =22 =
176 + 22 =
286 = 22 =
198 + 22 =
308 = 22 =
418 +22 =
484 + 22 =
396 = 22 =
22422 =
66 + 22 =
132 +22 =
110 = 22 =
440 + 22 =
374 + 22 =
352 =22 =
220 =22 =
154 =22 =
264 =22 =
242 =22 =
88 22 =
330 - 22 =
22422 =
220 =22 =
330 - 22 =

Calculate each quotient.

21

13

14

19

22

18

20

17

16

10

12

11

15

10

15

154 +-22= 7  308+22= 14
264 =22 = 12 22+22= 1

44 =22 =2 242-+22= 11
242 =22 =11 286+22= 13

88+22= 4 154+-22= 7
308 +-22= 14 418+22= 19
176 - 22 = 8 44 =22 =2
374 -22= 17 374+22= 17
484 22 = 22 66+22= 3
306 -22= 18 440-+22= 20
352 +22= 16 88+22= 4
132 - 22 = 462 -22 = 21
110 =22 = 330 +-22 = 15
462 -22= 21 484 +22= 22
418 -22= 19 220+22= 10
440 =22 = 20 110+22 =
286 =22 = 13 154+22=
198 =22 = 176 =22 =

66 - 22 = 264 =22 = 12
176 =22 = 308 -22= 14
264 -22= 12 374+22= 17
306 -22= 18 44 +22= 2
132 +22= 6 462+22= 21
352 +22= 16 242+22= 11
198 -22= 9 330+22= 15

Score:

22+22=
440 + 22 =
484 + 22 =
352+ 22 =
286 + 22 =
198 ~ 22 =
396 + 22 =
110 + 22 =
66 +~ 22 =
418 + 22 =
132 +22 =
88 ~ 22 =
220+ 22 =
66 +~ 22 =
132+ 22 =
198 = 22 =
88 ~ 22 =
220+ 22 =
44 =22 =
35222 =
242 + 22 =
396 = 22 =
308 = 22 =
418 + 22 =
440 + 22 =

DO | [ = | b= | [ | [ =] | = = = = p— == NN
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